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@PIENERIPN 300 0 300




=]
-
PN
o

la,

A
ZH

2l
7 -

I B AT
e 4 At
e
T
H
e
M
HM
Ho
>
1
=
ne
=
1
He
H1
>

HHomR

[l
QR =

= 1

SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
s=p 533,945 531,514 2,431
ARRXGNL(RES)N(ZELXAML /WAL AI) 150,500 150,500 0
ZoI£ Y 150,500 150,500 0
ZF0I& ALY 150,500 150,500 0
401 Al HI YL =2 Tl 150,500 150,500 0
01 A&l 150,000 150,000 0
Og 02t 2 S2 Fyl(L=209m) 1,727 18,000 16,273
Ottt Y2 ¥ =2 FHl(L=70n) 25,171 30,000 ~4,829
OBAE h42 Fl(L=50m) 16,379 20,000 £3,621
ONZB M2 Ful(L=236m) 20,105 23,000 ~2,895
OMU=Z ¢ M& Zl(L=70m) 17,625 20,000 ~2,375
O, Jtats2 Rl (L=104n) 19,883 16,000 3,883
OBEZH42 Ful(L=115m) 18,182 23,000 ~4,818
OUHE oS o2 &b (L=62n) 8,339 0 8,339
OSEOIE ZYZ bl (L=24n) 12,589 0 12,589
I SAHY (RSH)(IIEH/IIE) 184,849 182,418 2,431
oled 2 oy 83,161 81,100 2,061
ol 83,161 81,100 2,061
101 21248l 83,161 81,100 2,061
01 24 83, 161 81,100 2,061
OANZel 284+g 83,161 81,100 2,061
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—62 32,100 31,403 697
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o=l 101,688 101,318 370
405 XtarE S| 1,970 1,600 370
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OlF Il P (20H) 900 800 100
OATE P (1H) 450 500 A50
O&ZI 2L (10H) 250 300 A50
024 2L (1) 370 0 370
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ALY 432,447 427,226 5,221
MY 2B (ML) (IIEHDIIE) 189,347 184,126 5,221
elg 2| 83,525 78,304 5,221
el 2] 83,525 78,304 5,221
101 Q124 4] 83,525 78,304 5,221
01 2= 83,525 78,304 5,221
OAlzte 22 83,525 78,304 5,221
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e 465,754 462,170 3,584
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Chel:r Fo=EXME (el &)
SA-ZH () - HRAY - BES Off &4 I E A Hwsz
ol s 374,603 385,604 A 11,001
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Fo=x#y 195,015 199,315 4,300
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201 LBt 129,760 132,240 A2,480

01 AL 22l 24,100 25,080 980
oRg+Y 12,600 13,580 A 980
—xXdHEZZ H2Y 12,600 13,580 A 980

02 Z22%Hl 105,660 107,160 A1,500
OZZQZLAA 94,500 95,000 A500
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OHEI(AHEF) 0 280 A 280
OnAtt=Z 340 400 A60

O2Xt 170,000 »2CH 340 0 340
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ool FoSXEE (B9 ®R)
SN HH - (EH) - HRAY - BES 0l &k o4 p/E-T Hl DS 2
yes 431,362 445,362 A14,000
FOSNSH (MRS (LVBTTHY/LBHT) 226,400 240,400 A14,000

Fo=xay 226,400 240,400 £14,000
FoAF 226,400 240,400 214,000

201 YBt2 | 148,000 162,000 A 14,000

02 2z 2| 122,860 136,860 £14,000
O2BZR2 % Al 106,000 120,000 A 14,000
~-Jt2s 82,000 96,000 A 14,000
ARRTNANL (MRS (FELXAML/TALTAI) 50,300 50,300 0
Z0I% 2 ALY 50,300 50,300 0
ZoI& ALY 50,300 50,300 0
401 AIEHI L 2T HI 50,300 50,300 0

01 Al&t bl 50,000 50,000 0

Ot 2 M % = X 6l 2 (L=30m) 0 30,000 £30,000

O& 2 A & A Hl (L=50m) 0 20,000 A 20,000
ON2THSHHI(6M2) 48,000 0 48,000
OMSBA WXL (2H2) 2,000 0 2,000
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ARSTANL (IBS)(ZELNSNL/XALEAI) 50,300 50,300 0
FOHH ALY 50,300 50,300 0
FU=RAY 50,300 50,300 0
401 NEHIL 2 THYI 50,300 50,300 0
01 Al& bl 50,000 50,000 0
048 HAEX 21,109 20,000 1,109
O2% OIS HE XY 19,200 0,000 9,200
OFUEHATYA 298 Wi 2,110 20,000 ~17,890
OFXOIS &K 1,600 0 1,600
Ogge EHE(EMO02)ES 5,981 0 5,981
HH2 YA (F2S)(OIEH/IIE) 150,268 160,229 £9,961
oz 2yl 48,496 58,457 £9,961
ol 2yl 48,496 58,457 ~9,961
101 21248 48,496 58,457 ~9,961
01 B 48,496 58,457 £9,961
ONZtel 224 48,496 58,457 £9,961
— 62 5,234 10,468 ~5,234
—72 9,455 14, 182 ~4,727




